G0'GLZ = anbio) Xe 1'0E} = Jamod Xe
(PR /NG YA BHBUTMPSEPI 81'696 O, 69'LE 'SUONIPUOD UNY OY dAYNENSSL €1:90:2L 6002'80'Z - #P100 eliuny [l
oLz 09 0sz ovz oz ozz 01z 00z 06T 08T oLt 091 0s ovT o€t ozt o1t 00 06 08 oL

YR PR TS Tl (U Ty Rk SWEY SO Vs e G TR I e Shad GOY TS ¢ T e T e e EAR R e T et O LN W S L TN TN S A N, SRy SADY) ST SR T U VRIS T i SISt SO T AU TOSC TS T TAH S TUor G AR VLR A e M Le S VAR S e SR TR |

BT oo s vus s s msmaiaie wisteinie o sk nsia i A AR AT AR SATVET 168 SVE 6 G 0 0 BN 96 S Geteiates wraie ey . s g e i 35

Luft/Kraftstoffverhiltnis (Luft/Kraftstoff)
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